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NOTE: Attempt any FIVE qytf,3ns ulig nroner method. Att quertiiliiry equrt
marks. Aftempt at least TWO questions from eaci section.

Sectlon. I

Q # 1:. (a) Define the fo,towing:

(i) Geometrtc mean (li) euariltes

(v) Coefficient of variation

{lil} t*ean devtation (iv) Variance

Q # 2r (a) oenne the foffowins:

(l) Coefflcient of corelation (ii) Dependent vartable

(lv) Perfe* posltive correlation

(b| Glculate coefficlent of corelation between U and y where U = {jje ana f =y lO .

Also flnd the regression line X on y ,Find.the value of X when I = g0

{b) Calculate Median and Mean devlation from median from the following data:

Q # l:- 1a; For the fo,towtng probab,lity dlstribuflon:

{i} A {ii)E{x) (iiilE(x,) (iv)vafl)
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(iil) Method of teast sguare

x 400 200 700 100

x0
500 300Y 60 30 70

600
40 20 50

x 0 .t 2 3 4 5P(x 0.1 0.3 o.2 A 0.2Calculatel 0.0s

P.T.O,



(b) A study b m.de to detetmlne the postlbh rchtiooihip bctwcon 
'afthns 

afilldtlon and filude to"ard

a ce aln proposed plece of legtslatbn' Tlre data B as below:

Apph

Attdbutes For Again$t _ --Gdtfferent
ce$9!!q-'- 60 30 20

Jewlsh 30 50 10

*t - square test at 5,6 level of

fihe tabb \ralue of chi - square for 2 d'f' at 5t6 lc'et of siSolficance = 3391)

!f,,1!!:-Orawallpossiblesamplesofsize3wlthoutreplacementfromthQpopulatlon3'5'9'9'12and15'

Formasampllngdlstrlbutlonofmean'Rndmean,varlanceandstandarddevhtlonofthesamgling

dlstributionofmeans.Alsoffndthemean,vadanceandsBndarddevhtlonofthepopuladon.show

that mean of the Samplins dlstrihutlon of means ls equal to the populttioo mean'

Sectlon - ll

$[Jf {a) I company pald Rs. 2400 ior heat and power durlng march' f @st of heat u'as Rs' 800 less

than thr€e tlmes the cost of power' How mudr was the cost of heat?

tb) Solve 2x2 + l3x + 15 = 0 by method of comple$ng squares'

Q.i[ tr t*sotvcthe dtourlng systen of oquatlons:

l.5l+0'E, = 1'2

0'?x+l'2;Y -4'4 '

Iz -s s'lII
(b)r l=lr 4 6l isslngularmatrbqthenfind it'

[zoE]

O * 7i. ffre Arst term of an A'P' Is t the last term /tS and sum tl{t0' Flnd numbar of t6765 2nd semmon

dlffcrence in the serles'

!ff!!:- You want to recelve Rs' 6000 at the end of every three months for ffr'e yea6' lnterest 15 17'6%

comPounded quarterlY'

(a) xow muclr would you have to deposit at the begirnlng of the live years perlod?

{b) ttow mudr of whet you t€ceive l5 lnt€rest?
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